réf. 1649742487 % REL25 - Fiche d’entrainement Pas de calculatrice

| Compétence travaillée | Difficulté | Socle commun | Nombre d’erreurs |
| Priorité des opérations | Y% | v | |

Calculer.

)4+4—442=

2)5-8—4x(—9) =

3) —6x4+8—-8=

4) —846+5—4=

5)2+4-9x (—4)=

7) —2-T74+6—-8=

8)4+5+7x8=

)
)
)
)
6) —8x9-9—8=
)
)
)

9) —-6x54+5-7=

10) —4—8—4—-3=

1)4+4—4+2=[6
2)5—8—4x(—9)=|33]
3) —6x4+8—8=|-24]
4) —8+6+5—4=|-1
5)244—9x (—4) =42
6) —8x9—9—8=|—89]
7) —2—-7+6—8=|—11]
8)44+5+7x8=65]

9) —6x5+5—7=|—32]
10) —4—-8—4-3=[-19|
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